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What should come at place of the question mark (?) in the following number series ?

1. 2    3   7   22  89 ?      

(A) 446 (B) 444 (C) 445 (D)442 (E)None of these
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What should come at place of the question mark (?) in the following number series ?

2 . 4  8 24 48 144 ?

(A)286 (B)288 (C)248 (D)282 (E)None of these
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What should come at place of the question mark (?) in the following number series ?

3. 6 , 12 , 24 , 42 , 66 , 96, ?

(A) 182 (B)192 (C)132 (D)142 (E)None of these
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What should come at place of the question mark (?) in the following number series ?

4. 8  , 129  , 273 , 442 , 638 , ?

(A)836 (B)863 (C) 864 (D)833 (E)None of these
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What should come at place of the question mark (?) in the following number series ?

5. 1200 , 200 , 1000 , 250 , 750 ,?

(A)355 (B) 375 (C)380 (D)365 (E)340
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)212 (B)211 (C)213 (D)201 (E)None of these

What value should come in the place of question mark(?)in the following questions.

340 of  60 % + 120 of 25 % = ? + √529 
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)2063 (B)2057 (C)2067 (D)2076 (E)None of these

What value should come in the place of question mark(?)in the following questions.

424 + 341 + 267 + 352 + 683= ?

http://www.mahendras.org/


1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)1876 (B)1786 (C)1887 (D)1886 (E)None of these

What value should come in the place of question mark(?)in the following questions.

√ 1296 + 46² − 14 × 19 = ?
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)2000 (B) 1950 (C)1850 (D)1900 (E)None of these

What value should come in the place of question mark(?)in the following questions.

32² + 24³ ÷ 16 + 112 = ? + 150
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(A)1787 (B)1768 (C)1786 (D)1777 (E)None of these

What value should come in the place of question mark(?)in the following questions.

√1156 + 124 ¾ + 1786 − 136 = ?
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)970 (B)980 (C)964 (D)916 (E)None of these

What value should come in the place of question mark(?)in the following questions.

26 × 32 + 17 × 12 − 342 + √256 = ?
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(A)3450 (B)3550 (C)3600 (D)3500 (E)None of these

What value should come in the place of question mark(?)in the following questions.

9648 ÷ 12 + 124 + 52² −132  = ?
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)65.2 (B)75.2 (C)85.2 (D)84.2 (E)None of these

What value should come in the place of question mark(?)in the following questions.

23.64 + 34.76 + 62. 28 − 48.24 + 12.76 = ?
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(A)12600 (B)12000 (C)12300 (D)120000 (E)None of these

What value should come in the place of question mark(?)in the following questions.

(424 ÷ 8 + √ 3364)² − 321= ?
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)2984 (B)2343 (C)2989 (D)2549 (E)2894

What value should come in the place of question mark(?)in the following questions.

3034 − (1002 ÷ 20.04)= ?
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A) 2310 (B)2320 (C)2310 (D)2220 (E)None of these

What value should come in the place of question mark(?)in the following questions.

420 + 42 × 4 − 42 + 42²= ?
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Directions (Q. 26-30):Direction for Question

Read the following information carefully and answer the following question. 
निम्ि दी गयी जािकारी को ध्यािपूर्वक पढ़े और निम्ि प्रश्न क़े उत्तर दीनजय़े

The table contains data of number of employees working in five companies and 

percentage of male and female employees working in their two different departments 
दी गयी सारणी में पााँच कंपिीयों क़े कमवचाररयों की संख्याऔर इिक़े दो निन्ि नर्िाग में पुरुष और मनिलाओं क़े प्रनिशि की

जािकारी दी गयी िैं

Company Employees Department - 1 Department - 2

Male Female Male Female

A 400 12 14 9 7

B 650 18 10 12 14

C 500 28 14 4 7

D 550 32 8 6 4

E 300 12 18 3 7
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(A) 246 2/3 % (B)146 2/3% (C)243 1 /3% (D)143 1/3% (E)None of these

Q.26 :-Total number of Department I employees of company A is what percent more than 
the total number of Department II employee in company E?
कंपिी A क़े नर्िाग 1 क़े कुल कमवचारी स़े कंपिी E क़े नर्िाग 2 क़े कुल कमवचारी नकिि़े प्रनिशि अनिक िैं?

Company Employe
es

Department - 1 Department - 2

Male Female Male Female

A 400 12 14 9 7

B 650 18 10 12 14

C 500 28 14 4 7

D 550 32 8 6 4

E 300 12 18 3 7
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(A)188: 43 (B)43 : 188 (C)4 : 47 (D)47: 44 (E)None of these

Q.27:- Find the ratio between male employee in Department I of company A and C together 
to female employee of Department II in company D and E together. 
कंपिी A और C को नमलाकर नर्िाग 1 क़े पुरुष कमवचारी का कंपिी D और E को नमलाकर नर्िाग 2 की मनिला कमवचारी स़े

अिुपाि ज्ञाि कीनजय़े।

Company Employe
es

Department - 1 Department - 2

Male Female Male Female

A 400 12 14 9 7

B 650 18 10 12 14

C 500 28 14 4 7

D 550 32 8 6 4

E 300 12 18 3 7
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(A) 134 (B) 137 (C)139 (D)140 (E)CND

Q.28 :-Find the difference between female employees of Department 1 in all companies 
together (excluding company D) and the female employees of Department 2 in all companies 
together (excluding company B)?
सिी कंपनियों (कंपिी D क़े अनिररक्त) क़े नर्िाग 1 की मनिलाओं का िथा सिी कंपनियों (कंपिी B क़े अनिररक्त) क़े नर्िाग 2 की

मनिलाओं का अंिर ज्ञाि कीनजय़े।

Company Employe
es

Department - 1 Department - 2

Male Female Male Female

A 400 12 14 9 7

B 650 18 10 12 14

C 500 28 14 4 7

D 550 32 8 6 4

E 300 12 18 3 7
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(A)13 : 4 (B)4 : 1 (C)3 : 13 (D)13: 3 (E)CND

Q.29 :-Find the ratio between the numbers of female employees of company B in 
Department I to the number of male employees of company C in department II. 
कंपिी B क़े नर्िाग 1 की मनिलाओं की संख्या स़े कंपिी C क़े नर्िाग 2 क़े पुरूषों की सखं्या का अिुपाि ज्ञाि कीनजय़े।

Company Employe
es

Department - 1 Department - 2

Male Female Male Female

A 400 12 14 9 7

B 650 18 10 12 14

C 500 28 14 4 7

D 550 32 8 6 4

E 300 12 18 3 7
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(A) 11% (B)22% (C)33% (D)66% (E)None of these

Q.30 :- If 60% of the employees of company E in Department I are post graduate and 40% 
of the employees of the same company in the Department II are post graduate, then what is 
the percentage of employees who are post graduate in both the departments of company E 
to the total employees of company E? 
यनद कंपिी E में नर्िाग 1 क़े 60% कमवचारी परास्िािक िैं। और उसी कंपिी में नर्िाग 2 क़े 40% कमवचारी परास्िािक िैं, िो
कंपिी E में इि दोिों नर्िाग को नमलाकर परास्िािक कमवचारी, कंपिी E क़े कुल कमवचाररयों का नकििा प्रनिशि िैं?

Company Employe
es

Department - 1 Department - 2

Male Female Male Female

A 400 12 14 9 7

B 650 18 10 12 14

C 500 28 14 4 7

D 550 32 8 6 4

E 300 12 18 3 7
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(A) 42min (B)48min (C)40min
(D)44min (E) None of these

A boat can travel 4.2 km upstream in 14 min. If 
the ratio of the speed of the boat in still water to 
the speed of the stream is 7:1. How much time 
will the boat take to cover 17.6 km downstream?

एक नाव धारा के प्रतिकूल 14 मिनट िें 4.2 ककिी 
की यात्रा कर सकिी है। यदि शाांि जल िें नाव की 
गति का धारा की गति से अनुपाि 7:1 है। नाव 
को धारा के अनुकूल 17.6 ककिी की िरूी िय 
करने िें ककिना सिय लगेगा?
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(A) 7.5 (B)6.25 (C)12.5
(D)10.25 (E)None of these

A and B working together can complete a work in 
5 days. If A works with one third of his efficiency 
and B work twice efficiently than the work be 
completed in 3 days. Find in how many days B can 
alone finish the work with his actual efficiency.
A और B एक साथ कायय करिे हुए एक कायय को 5 
दिनों िें पूरा कर सकिे हैं। यदि A अपनी िक्षिा के 
एक तिहाई के साथ कायय करिा है और B कायय को 
3 दिनों िें पूरा करने की िुलना िें िोगनुा कुशलिा 
से कायय करिा है। ज्ञाि कीजजए कक B अकेले उस 
कायय को अपनी वास्िववक िक्षिा से ककिने दिनों िें 
सिाप्ि कर सकिा है।
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(A) 13500 (B)14000 (C)15500
(D)16500 (E)18000

The sum of A's income and B's income is 33000. A 
spends 60% and B spends 75% of own incomes. If 
they save in the ratio 4: 3, find B's income?

A की आय और B की आय का योग 33000 है। A 
60% खर्य करिा है और B अपनी आय का 75% 
खर्य करिा है। यदि वे 4:3 के अनुपाि िें बर्ि 
करिे हैं, िो B की आय ज्ञाि कीजजए?
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(A) 40 (B)60 (C)80
(D)90 (E) 100

A shopkeeper sold his goods at 20% profit. If he 
had bought it at 10% more and sold it for Rs. 14 
more, he would have gained 25%. Find the cost 
price of goods.

एक िकुानिार ने अपना िाल 20% लाभ पर बेर्ा। 
यदि वह इसे 10% अधधक पर खरीििा और 14रु
अधधक िें बेर्िा, िो उसे 25% का लाभ होिा। 
िाल का क्रय िलू्य ज्ञाि कीजजए।
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(A) 25/kg (B) 29/kg (C)32/kg
(D)36/kg (E) 39/kg

Wheat worth Rs 20 per kg and Rs 22 per kg are 
mixed with a third variety of wheat in the ratio 1: 
1:2 respectively. The mixture is worth Rs 25 per 
kg. Find the price (per kg) of the third variety of 
wheat?
20 रुपये प्रति ककलो और 22 रुपये प्रति ककलो के 
गेहूां को क्रिशः 1: 1: 2 के अनुपाि िें िीसरी 
ककस्ि के गेहूां के साथ मिलाया जािा है। मिश्रण की 
कीिि 25 रुपये प्रति ककलो है। गेहूां की िीसरी 
ककस्ि का िलू्य (प्रति ककग्रा) ज्ञाि कीजजये?
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(A) 1200 (B)1800 (C)1500
(D)2250 (E) None of these

A mixture of two types of rice costing Rs. 32 per 
Kg and Rs 48 per kg mixed in ratio 5:7 if 24 kg of 
mixture is replaced by 8 kg of first type of rice the 
ratio in the mixture becomes 6:7. Find the amount 
of first type of rice originally.
32 रुपये प्रति ककलो और 48 रुपये प्रति ककलो के 
िो प्रकार के र्ावल के मिश्रण को 5:7 के अनुपाि 
िें मिलाया जािा है यदि 24 ककलो मिश्रण को 
पहले प्रकार के र्ावल के 8 ककलो से बिल दिया 
जािा है िो मिश्रण का अनुपाि 6:7 हो जािा है। 
िलू रूप से पहले प्रकार के र्ावल की िात्रा ज्ञाि 
कीजजए।
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(A) 51% (B)51.42% (C)51.5%
(D)52.5% (E)None of these

Three person P, Q and R enters into a partnership. P invests 
1500 rupees every month, Q invests 1300 rupees per month 
but he withdraws his amount before two month of the 
completion of the year, R invest 2600 per month but he 
withdraws his amount after 5 months. Then find the % 
profit of P's share out of total profit?
िीन व्यजति P, Q और R एक साझेिारी िें प्रवेश करिे हैं। P हर 
िहीने 1500 रुपये का तनवेश करिा है, Q 1300 रुपये प्रति 
िाह तनवेश करिा है लेककन वह वर्य पूरा होने के िो िहीने से 
पहले अपनी रामश तनकाल लेिा है, R 2600 रुपये प्रति िाह 
तनवेश करिा है लेककन वह 5 िहीने बाि अपनी रामश वापस 
ले लेिा है। िो कुल लाभ िें से P के दहस्से का % लाभ ज्ञाि 
कीजजये?
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(A) 52 (B)55 (C)59
(D)60 (E)64

If 6 years are subtracted from the present age of 
Vaidehi and the remainder is divided by 18, then 
the present age of her granddaughter Anjli is 
obtained. If Anjli is 2 years younger to Mohan 
whose age is 5 years, then what is the age of 
Vaidehi?
यदि वैिेही की वियिान आयु िें से 6 वर्य घटाया 
जािा है और शेर् को 18 से ववभाजजि ककया जािा 
है, िो उसकी पोिी अांजली की वियिान आयु प्राप्ि 
होिी है। यदि अांजमल िोहन से 2 वर्य छोटी है 
जजसकी आयु 5 वर्य है, िो वैिेही की आयु तया है?

http://www.mahendras.org/


1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A) 320 (B)240 (C)200
(D)300 (E) 360

If marked price of an article is 60% above the cost 
price. The article is sold at 25% discount. If the 
profit obtained is Rs. 40 then find the marked 
price of article. 
यदि ककसी वस्िु का अांककि िलू्य क्रय िलू्य से 
60% अधधक है। वस्िु को 25% छूट पर बेर्ा
जािा है। यदि प्राप्ि लाभ 40 रुपये है िो वस्िु का 
अांककि िलू्य ज्ञाि कीजजए।
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(A) 12km (B)17km (C)21km
(D)15km (E)13km

Speed of boat is 7.5 times of the speed of the 
stream. The difference of the downstream and 
upstream speed is 4 km/hr, then how much 
distance in upstream will boat cover in 1 hour?

नाव की गति धारा की गति की 7.5 गनुा है। धारा 
के प्रतिकूल और धारा के प्रतिकूल गति का अांिर 4 
ककिी/घांटा है, िो नाव धारा के प्रतिकूल 1 घांटे िें 
ककिनी िरूी िय करेगी?
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(A) 16 (B)24 (C)18
(D)8 (E)12

There is a 120 litres mixture of milk and water in a 
jar. Ratio of milk and water in the jar is 5 : 3 . If x 
litres of mixture is taken out, then the 
difference of milk and water in the jar is 24 litres, 
then find the value of x.
एक जार िें िधू और पानी का 120 लीटर मिश्रण 
है। जार िें िधू और पानी का अनुपाि 5:3 है। यदि 
x लीटर मिश्रण तनकाल मलया जाए, िो जार िें िधू 
और पानी का अांिर 24 लीटर है, िो x का िान 
ज्ञाि कीजजए।
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(A) 3year younger (B)6year younger (C)3 year older
(D)6 year older (E) 4 year older

Five year ago, Amu’s age is equal to Xia’s age 4 
years hence. Zara’ present age is 6 years more 
than Xia’s then find by how many years Amu is 
younger/older than Zara? 

पाांर् साल पहले, अि ूकी उम्र ज़िया की 4 साल 
बाि की उम्र के बराबर है। ़िारा की वियिान आयु 
ज़िया की आयु से 6 वर्य अधधक है, िो ज्ञाि 
कीजजए कक अि,ू ़िारा से ककिने वर्य छोटा/बडा है?
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(A) 18.20 (B)20 (C)18
(D)20.20 (E)24

Abhinav bought 55 books for Rs. 1,020 from one 
shop and 60 books for Rs. 1,280 from another 
shop. What is the average price he paid per book?

अमभनव ने एक िकुान से 1,020 रुपये िें 55 
ककिाबें और िसूरी िकुान से 1,280 रुपये िें 60 
ककिाबें खरीिीां। उसने प्रति पुस्िक की औसि 
कीिि तया अिा की?
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